Algebra I
Chapter 4 Review
Name________________________________________
Date____________________

Determine if the graph represents a direct variation model.  If yes, find the constant of variation and the slope.
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Graph the equation.  Find the constant of variation and the slope.
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The variables x and y vary directly.   1) Use the given values to write an equation that relates x and y.    2) Then use the equation to find the missing value.
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If x = 4 when y = 8, find x when y = 20
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2)  
Write an equation of the line in slope-intercept form.
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Write an equation of the line in slope-intercept form.
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Write the equation of the line that is parallel to the given line and passes through the given point.

18.







18. ____________________

[image: image20.emf]
19.







19. ____________________

[image: image21.emf]
Write the equation of the line that is perpendicular to the given line and passes through the point (1, 3).
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Write the equation of the line that is perpendicular to the given line and passes through the point (1, 3).
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Find the slope and y-intercept of the graph of the equation.
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Decide whether the graphs of the two equations are parallel lines.
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Graph the equation.  
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A. Find the slope of the line.  What does it represent?

B. Find the w-intercept.  What does it represent?

C. If the wrestler lost 2 pounds per week, how would the graph change?

Find the slope of the line passing through the given points.
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Tell whether the graph, set of ordered pairs, or equations satisfy a linear function.  Explain.  
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Find the slope of the following lines.  
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Describe the transformation(s) from the graph of f(x) to the graph of g(x).  
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46.  The entrance fee at a carnival is $3 and each ride costs $1.  The total cost for x rides is
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.  How will the graph of this function change if the entrance fee is increased to $5 and the cost per ride is increased to $2?  
�
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